| Efficiency vs Dxy |
> 0.1
<

i®)
.09
>
3.08
k)
D.07
©
0.06
0.05
0.04
0.03

0.02
0.01{|}-

o+ RE-H : ] ! ! b ! 3 1
l :—' - I 9 . ‘: Y e ¥ - i &+ bt l 1“::--;.::--;:::';'::::; - '-l ERRR ‘: """

0.95 F=-11-1- 1+~ M0 ettt - -+~ f -
o E ' ' ol | 91 £ : ' ' '
0.9 3

E_20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

Rati

—— DQM_mKFit_TToriginal
— —e— DQM_mkFit_TTNEWHS-improved
| Efficiency vs Dz | | . pOM mkFit_TToriginal-106

—+— DQM_mkFit_ TTNEWHSMS-improved
3 0.2 : : : :

T e —_—_————
N i i i : i
A
Q - : : : : :
.14 o Frrereree frorereeeee A
(¢} : : : :
0.12F
0.1—
0.08

........................................................

0.06

0.04
0.02
o+

Rati

=

LIS L L L L

o
©
a1

o

10 20 30
TP dz (cm)

|
w@
o

l
N
o



	Contents
	Page 1


